OO0O00O00oboOo ASIcCOb00obooooo oooo

1 00O

ceuoOO0OO0OOO0O0OOODOOOOOOOOOODOOOOOCOODODOOOOOOODOOD OO
gbooobooooooobooobooboooboboOooooooooooOoooooboooboooo
goooooo ASICOOC0OO000ooooooooooooooo0ooooooooDoooo
gooo0oooooooo le00OdcCcpUOOOUOODOODOODOOODOOOODDODOODO
gbobooboboobooooboooboobooobOOoooooooOoooooooOoooboOooooan
gbooooobooooobooooboboobooobooooooooooooobooooboooboogoaon
gobooooobobooboobooboooooDo

1. 00000ooooooooooooooooooo crpuoo
2.0000000000D00000DO0O0DOOODOO

. 000ob0oboooonooboooo

4. 0000000DOO0O0O0O0O0OO0DOO0OOO0ODOobOOonOn

gboboooooboooobooooobooooobooooooooooooooboOoobooOooonn
O0OOOOOPARTHENONOOOOOOO DEMOOO demoOOQOCOCCOCOCOCOCODODODODOO
gbooooooooobooboooooboooooobooobooobooooboooboooboboooboobooon
00000000000000000000000'000000000000000000000
0oooooocpudddl00OOOoOooOoOooOoOoOoOoOoDOO0O0O0OOOODDOMakefile
gboboooooooooooboooobooobbooboooboooobooooobooOoooon
goboboooboooboooooobooobboobomooooooboooobooooboobobooboooo
gbooooboobooobooboobooooboboooog

e JO0000O0ODOOODOODOODOOLOOODOODOODOODOODOOOOOOOODOONn
oboooooboooobobooo

e JO0000ODOOOLOOODOOUDOOOLOOODLDOODOUDOLOOODOODDOODLDOODOO
O0000000makeOO0OODOOOOODOOOODO

e J0IDODDODUDOOOOD (foosc) JDDODUDDOUOODDODDOOODDOO

e JO0000O0ODOOODOOOODOOODOOOOODOOODOOOOODOODOODOOODOOn
ooooog

2 JOooooon

gugbobboooboodobbboobobooboooboooboboooboboooboboann
gobobooobooobboooobbooobbooobooobboobbooobooooo

000000000 0000000000000000000000000000000000000000000
ooooo



goooooooooobooooooo3sboboobobobOooooooooooooooo
gbooboooboooooboboobooobooobobooboboboooboooooboooobooon
gbobooooooobooboooooooboooobobobooooobooboobOooboooo
gooooooooobooboobooboobooooooooobobooboobOooboDooooooo
gbooooboobooboobooboobooooooobuooboooboooobobOoboobobooobo
goooOoOoO0O0O0OoOoOoOoooooOooOooOoOoo cCcpydOOOOOOODOOOOOOO
0o0000000000U000o0o0oOoOoOoOOOOODOOOOOoOIP-ARCHOOOOOOOO
(http://wwww.ip-arch.jp) 000 0000000000000 00000O00O0O0O0O0OOOOOO
goo0ooooDooO0o000ooooDoO0ObO00000o0ooooDDO0b000000 yaceO lex
gooooooocoboooobooooOooOooboOooooo0ooooOoo cobooooDoOooDoD
gbobooobobooobooboooooboooo

ceuoooogon e JO00IDOOO0OODOOLOODOOUOODOODOOOODOOO
e J0IU0DDOOD 1000 (16000)10D0000ODOUOODO
e O0ODOOODOODOOOODDOODLOIDDODOOODLOODLOO
ob 0000 ee0O0000100000000000 a0z
gboooobooboboboooobboobobooooobobobgaonoo

O0alol] 0 a00000al26] 0 z00000

e NUUDOOOOOODODOODLDOOzu0DbOODLOODLDMODbDOODLOOOOO
O00000000000O0int AbcDef[10]; OOOOOOOOOOOOOOO
gbooooobooooono

e mem [ [
00 O0O00O0o0o0o0oboooooooooobooooooa
0000 0000000000 mt0bOooo0ooooooooooooboon

00 O0000000veidOOO0OO0OO0O0OOOOOO00
OO0 +-<>><===¢ | > <«<O000000
OO0 while if else for return break halt 0O 0O OO0

hat 00 O0O0O00OOOO0DOODOO0OOOOOOOOOO0ODOODOOODOOO

21 0OoOoboboooodgn

glboooooooboooobooobooboobbooboooboobobooobooboboooon
gboboooboooooooboooboboooboz000000000O000O0DOO0O0OCOO0OOO
oon

22 0OJO0O0O0oOobOobOoOdo

glboobooooboooboobobooboooooobooboobooobozb0000000
uboooooobooooobooboo



void gsort(left, right) {
int ileft, jright,pivot;
ileft=1left;
jright=right;
pivot=z[(left+right)>>1];
while(1) {
while(z[ileft]<pivot) ileft++;
while(pivot < z[jright]) jright--;
if (ileft>=jright) break;
swap(ileft, jright);
ileft++;
jright--;
}
if (left<ileft-1) gsort(left,ileft-1);
if (jright+1<right) gsort(jright+1,right);
return;

void swap(ain, bin) {
int temp;
temp=z[ain];
z[ain]=z[bin];
z[bin]=temp;

return;

}
for(i=0;i<20;i++) z[i]=20-1i;

gsort(0,19);
halt;
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n=20;
for(i=0; i<n; i++) z[i]l=n-i;

for(i=0; i<n-1; i++)
for(j=n-1; j>i; j--)
if(z[j1<z[j-11) {
w=z[j];
z[jl=2z[j-11;
z[j-11=w;

halt;
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class_name Snx
power 5783.7
area 809.04
gates 3006
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